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gﬂ What is the difference between the invalid bit in a page table entry and the invalid

anl:l:titg:,n;tlz:sn lookaside buffer entry? What happens in each case if an address

P to use that entry? Is it possible for both to be set? Why?
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2. There are many difficult issues that arise due to uncontrolled concurrent
ecutions. Why do we not simply turn off interrupts to prevent such problems from

arising? Why not always? Why not just for all critical sections of code?
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-4 ) In MLFQ scheduling, processes are moved from one scheduler queue to another

%ed on their behavior. Each such queue has a particular length of time slice for all
processes in that queue. Why might a process be moved from a queue with a short time
slice to a queue with a long time slice? How can the operating system tell that the

process should be moved?
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3. Will binary , 3
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bty i g (ll" . or neither? If it does suffer from a form of fragmentation, how
; 1y? If it does not suffer from a form of fragmentation, why not?
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6. What is the purpose of a trap table in an operating system? What does 1t contain?

Aen is it consulted? When is it loaded?
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10 What is the difference for a virtual memory s} stem between segmentation and
paging? Why might both be used in a single system?
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